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B.A. (CBCS) DEGREE EXAMINATION, APRIL 2021.
Fifth Semester
Economics — Main
INDIAN ECONOMY —1
(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1.  @psuw QuTmeTTSMTLD —_— GTeaTm)
S PSSLILIHSDS).
() eueTr&EHlLuenL_bHS (<) euaTi&sl Gemhs
(@) euermEflwenLwim (FF)  erglajfldbena

Indian economy is
(a) Developed economy

(b) Underdeveloped economy
(¢) Undeveloped economy

(d) None of the above



@B ——— @Quicens Camar(heTerg).
(@) SHs soreils e

(<) s 2 daBre () 2 HusH

(@) Gonhs sOTeNS 6uUHeTUI

(FF)  @ene Djanerdgih

Indian economy is characterized by

(a) High percapita income

(b) High domestic products

(¢) Low percapita income

(d) All the above

@it QurmerTaTrsSla (PSeTand Flenm

(<) eNeugmud (<) Qsmfldgienm

(@) Coemeuggienm (FF)  erglajldbena

The primary sector in Indian economy is

(a) Agriculture (b) Industry

(¢) Services (d) None of the above

@nbslw Geuerrmessr glanpuded el iU (HILD
Cauaneuflermants ————— G Lb.

(@) eflpriu Cauameaulenento

(<) el Ceuameudleranto

(@) wappHmEESLD

(FF)  ergle|dlebenad
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An existing unemployment in Indian agriculture
is

(a) Voluntary unemployment
(b) Structural unemployment
(¢) Distinguished unemployment

(d) None of the above
BPL eretiugy ereng sanrédlLLn Lweru(ié g 2

(=) Wwss6Er DgTans (<)) eumIenLD

(@) Geuameuldlesrento (FF)  ergieyLlebaned

BPL is used to measure the
(a) Population (b) Poverty
(¢) Unemployment (d) None of the above

yélw Qg med CsmeTens @ndwredle
SDWPSUILHSSILL L 2,60

(=) 1958 (<)) 1988
(@) 1991 (FF) 2002
In the year the new industrial

policy was introduced in India.
(a) 1958 (b) 1988
() 1991 (d) 2002
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S(HLULL LIGRTLD 6T6hTLIg)

() sasSled eUTTs LiewTid
(<) eufliiLienrid

(@) @emuibd

(FF)  ergla|ilebena

Black money is

(a) Unaccounted money

(b) Tax income

(¢) Profit

(d) None of the above

P.C. wanGamderev erhg epsranr® L sCsmbH
QT jenLwieu

() oo ghgram® b

(<) BHsTDO b

(@) apreg SiLo

(FF)  ergla|lebena

P.C. Mahalobins was related to
(a) First Five Year Plan

(b) Fifth Five year Plan

(¢) Seventh Five Year Plan
(d) None of the above
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10.

@ndwureler Qwrssbd aTdsmer LbsTa@T(H S L Lb
BenL_(penl L(HSSLILL (H6Terg

(@) 12 (<) 13

@) 14 (FF) 15

five year plans were launched in

India.
(a) 12 ®b) 13
(o 14 (d 15

@pdwureiler Fi L &@&Hupeln@L uded o (heumdasiuL L
DL 6Tl ?

(<) GST (=) ffsew

@ 8 %Gurs (m) el Eifl®sss GW
Which was an institution replaced the planning
commission?

(a) GST

(b) Finance commission
(¢) NITI Aayog

(d) Tax reforms commission
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PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.
11. (@) @pduL QummeTTS TS S 6im PSS WL
r&Hepeargener gamis.
Narrate the problems of Indian economy.
Or
(<=1) CeumauilleTeLDEETaT STTEITRIGET W6l ?

What are the causes for unemployment?

12, (©) umIMESTET STTETBIGSET WMe 6TET prmils ?
Analyse the causes for poverty in India.

Or

(<) @pdumeiled  odrer uOCoum  cueswTET
Couamaullemenoenw gomis.

Point out the different types of
unemployment in India.

13. (@) @pdumeied w&ser Qgreans CUmESSI T
ghuL YrFsmeraseT wWramae ?

What are the problems of population growth
in India?

Or
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14.

15.

(=)

@pdwreiled waEseT @Lib QUWTSOT® eFHLIHILD

cllenereyEHeneT dnmis.

Narrate the impact of migration of people in
India.

@bdwureler Geuermeir 2 HUSH  (GdOeUTSH
@BUUSHETET STTETEISET LTEEU ?

What are reasons for the low production in

Indian agriculture?

Or
@pdwureiler  Quiflu  Gsmer  sTarasafler
W&IWSHISMS TS,
Analyse the importance of large scale
industry in India.
@i spsramh S Lmsaler @Gmpurbhaamer
eleurdlss.
Discuss the defects of Indian five year plans.
Or
BlE o Guirg updl GHILIL euamrs.

Write a note on “NITI Aayog”.
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PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (=)

(=)

17. (=)

(=)

@nBSlw QumrperTgTyD &l TRs mem(erpLd

“rssanargamer 6flers@Hs.

Explain the problems faced by Indian

economy.

Or
@nglwraie cUmIeNLD @muusHaTer

STrERTBISmET alleurd.

Discuss the causes for poverty in India.
@pdwureler w&ser Csmenst Grssamarenw
Eré@b Ufl(PEDSEMET Fonis.

Point out the remedial measures for
population problem in India.

Or

@idwut  Qurmernsmysdlad  Geuermerenioulle
UBISlars &(mHs.

Bring out the role of agriculture in Indian

economy.
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18.

19.

20.

ugewbl Lyl fuler ellenareajsamer allems@s.

Explain the impact of green revolution in
India.

Or

@b Gouerner  msTy TS TOETETERLD
rssenarsamer 6flers@s.

Explain the problems of agricultural market
in India.

@pdureiler Csmpe eueTTéslsE ATs: TOSS
BL_GUIq HEESET WITEHE ?

What are steps taken by the government to
promote the industrial growth in India?

Or
@pdwu Qsmpe QaETaTansHamar <, FTilis.
Critically review the industrial policies in
India.
@bHwuts QurpetTsTrsSedr HAmi wHmD GLmss
Qamflesefler (psflusgiousms llerss.

Explain the importance of small scale and
cottage industries in Indian economy.

Or

Page9 Code No.:12451 B



(<) @Bbdwmesle &b et (h) S Lmigafler
Wgeygemer EHLLIH Cauwis.

Evaluate the consequences of Indian five
year plan.
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